Second Term - Assignment 2

Name:

Vocabulary

1

Complete the sentences with the correct words from the box.

breakfast classmate dinner doctor

generation grandson homework pain

I The older sometimes struggles with technology.

2 A lot of people enjoy eggs and toast for ;

3 Ihave aterrible in my back where | fell.

4 1had to do my at the weekend because | had a competition on
Friday evening.

5 Ernie’s wants to be a doctor, just like him.

6 Ilentmyrulertoa because she had forgotten hers.

7 Mum made my favourite last night — roast chicken and potatoes.

8 Stefan went to the because he wasn’t feeling well.

Circle the correct option.
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She is very popular because she’s so annoying / friendly.

I want to become an astronaut because I'm very good at / interested in space.
Pass me your camera / laptop and I'll take a photo.

Chinese is a very different / difficult language to learn.

You must control / follow the instructions.

The programme was so funny it made us all dream / laugh.

Read and answer the questions.
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Choose two things that you can send. a a letter b an email ¢ a mouse
Choose two weekdays. a Saturday b Monday ¢ Thursday
Choose two things you can code. a a computer b a program ¢ a doctor
Choose two things you can follow.  a a person b homework ¢ instructions
Choose two things that you can eat for a chicken b meal ¢ meat
lunch.

Choose two things that are famous.  a Eiffel Tower b Big Ben ¢ river



Grammar

4 Underline the correct option.
1 Tam/is 12 years old.
2 My step-father is / are a doctor.
3 The instructions is / are difficult to follow.
4 The legs isn’t / aren’t moveable.
S My sister isn’t / aren’t messy like me.
6 Is/ Are your grandparents still alive?
5 Complete the sentences using has got, hasn’t got, have got or haven't got.
My wife any sisters.
2  The café Wi-Fi. It’s free to use.
3 The robot a control panel on the front. You use it to make the
robot move.
4 My parents any spare time.
5 Our classrooms lovely big windows.
6 Simon piano practice today because his teacher is ill.
6 Write the following nouns in the correct column.
apples bananas bread cheese eggs honey milk rice  tomatocs water
Countable nouns Uncountable nouns
7 Complete the sentences by writing the verbs in brackets in the present simple.

I 1 (live) in a small town in France called Eze.

2 He (not visit) his grandparents every weekend.

3 They (buy) fresh vegetables at the market every day.
4 Every Sunday, she (play) tennis with her best friend.
5 They (finish) their homework at half past six.

6 Mr and Mrs Turon (not see) their daughter very often.




8 Complete the sentences by writing the verbs in brackets in the present simple.
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dinner / I / watching / never / whilst / TV. / eat

friends. / I / meet / to / park / my / sometimes /go / to / the
always / on/ my/ I/ do / time. / homework

6 a.m. / rarely / before / 1 / up / wake

my / | / carefully / to / teacher. / listen / always

tidy / I/ my / bedroom. / often

Read the sentences on the left. Tick the correct advice, a) or b), on the right.

Y ou want to be a computer a) You should learn to cook.
programmer. b) You should learn to code.

You want to be a doctor. a) You should love travelling.

b) You should love helping people.

You find maths difficult. a) You should ask your teacher for help.
b) You should pretend it’s easy.

You hurt your leg at school.  a) You should play football tonight.
b) You shouldn’t play football tonight.

You broke the computer a) You should tell your parents.
screen. b) You shouldn’t tell your parents.



Reading

10 Read. Circle the best options.

Ryan doesn’t live in a big city where there are cinemas, supermarkets, schools and
libraries. Ryan lives in the outback of Australia. The ‘outback’ refers to enormous areas
of sparsely populated land. These areas stretch over thousands of miles and your nearest
neighbour might live more than four hours away! It's impossible to build schools in areas
like this so children who live in the outback usually attend the School of the Air. The
School of the Air began in the 1950s when children used high-frequency radios to
communicate with teachers ‘over the air’. Today, both radio and satellite technology is
used. Ryan’s lessons start at 8 a.m. He sits at his computer and waits for his ‘classmates’
and teacher to come online. The lessons are similar to those of a traditional classroom and
his teacher often sets homework for Ryan to do. Although it’s different to a traditional
school, Ryan likes his School of the Air.

Ryan lives / doesn’t live in a big city.

Lots of people / Not many people live in the Australian outback.

Ryan travels for four hours / doesn’t travel to get to school.

In the 1950s, the School of the Air taught lessons over radio / radio and satellite.
Ryan is in the same / a different room to his classmates.
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